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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

o
~
<
o
Te)
<
- 9]
N
<
o
=
5
>
©
5]
Lo
~
™
o
To}
)
—_— L
o
I
)
9
o
(=)
&
=)
> > o
L =
T - a
~
T T T T T N T T T T T T T
< o o N < o o o o o o o
o o =) o o S Ire) S s S s
. ™ N N — —
= = = = <

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

27.5

day

9]
~
<
o
)
<
{9}
i
<
o
=)
<
>
©
©
{9}
~
™
o
)
%)
I — o
{9}
i
™
L ]
o
o
®
> &)
@ &
o o
~
T T T T T N T T T T T T T
o o o o o < 1) N — o o ©
m [Te] o Tp) [{=} © © © © o o
o o o o o o o

47.5

45.0

42.5

40.0

37.5

35.0

32.5

30.0

27.5

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

1750

1500

1250

1000

750

500

250

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
T /‘\HA HwAvAwnUAUﬁ\VH\ — ]
\ ) WAJ-/ W K
N K\lﬁ | =
|
0 25 I50 75 100 125 150 175
d
i P/‘v‘\_/ JW/J\’W \/\/-\V\A R Lpt |
5 A
/A\_ ! 1 M I \A—,\’\\
7\T N Al h: -
Al NYREiIAs
ALY, A
j \ i
0 25 pA 75 100 125 150 175
d
] — r
i ——  RHopt
I ﬂ A
| 7l
WLV
v s
0 25 50 75 100 125 150 175
d
Vr\‘--'A\A[\ [\v VAUA ~ _ El:ém |

f'v m:r_==_
0 2 50 75 100 125 150 175
d
T
! _— — LAl |
1
! / \
1
|/ \_
A A\
<4/”///// 1
1
1
/ I
1
/ 1
1
1 \'\_\
‘_a//’//' : N
1
1
0 25 50 75 100 125 150 175
d
optEtRate

VA S—

iy
|

R S R PR e SR

75 100

125

150

175




250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
A |
g AT RS & s
- ““FA I
-- -
1 / \ - M«‘\\ U o & 85
P ﬂme&*“' \ W e’a\v% ]
I I
. | —8— setVI_ETol |
— \/ \/ : —0— setVI_fgRec
- 1 —@— setVI_WN
" 28 o 00 ) i : —e— siSetVl
1 I
0 10 20 30 40 50 60



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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m=530, FV0=0
—o— ME
24. 4 -
24. 2 -
24.0 -
23.8 -
T T T
530 535 540
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25.0 -
24. 8 -
24. 6 -
24. 4 -
24.2 -
T T T
725 730 735
m=905,m FV0=0
—o— ME
24.8 -
24.6 -
24. 4
24.2 -
905 910 915
m=475,m FV0=0
38. 00 - — NI
37.75 -
37.50
37. 25 -
37. 00 -
36. 75 -
475 480 485




m=530, FV0=0

38. 50 ~

38. 25
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37.75 A

37. 50 A
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39.0
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39.5 -

—o— MW
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m=570, FV0=0
39. 00 4 o= MW
38.75 -
38. 50 -
38. 25 -
38. 00 -
37.75 -8 | |
570 575 580
m=765,m FV0=0
—— MW
40.5
40.0 1
39.5 1
39.0 1
T T T
765 770 775
m=970,m FVO=0
—— MW
40.5 1
40.0 1
39.5 4
970 975 980
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41.
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39.

m=625, FV0=0
-— MW
0_
5_
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O_
5_
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8%0 8%5 850

m=680, FV0=0
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38.5 -
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T
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m=860,n FV0=0

40.75 A
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T
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T
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P3-7

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:00 273 130.0 (Z=| {Ri%@07:00 Bz (REAHERHSE)
07:55 273 130.0 | =| 1Ri%e07:55 Bah (kAEREE)
09:10 273 130.0 FA| {Ri%@09:10 Bzl (RkAMEEE)
10:20 273 130.0 El BRi%010:20 Bz CGRAEREE)
11:20 273 130.0 =l {Rige11:20 B3 (RAERSE)
12:20 273 130.0 Sl {Rige12:20 B3 (RAERSE)
13:10 273 130.0 E| {Rig@13:10 B3h (GRE{ERSE)
14:05 273 130.0 5| 1RiR@14:05 B35 (REAEESE)
14:55 273 130.0 | {Ri%e14:55 B (REARESE)
15:55 273 130.0 E BRige15:55 Bz (GRAERSE)
21t 2730.0 (100%) 1300.0 EWHKEC: 2080.0, PH: 6.0

HERRHEMESTEAERTS (179.0 : 147.0), AIgEMF—RE XAH45
LORGEBRETC (278) 514 (245. 0) N7, FIREH T % 1@ [E)#IRS % XERT
BRIASERRERE147. 0 ml.

RERSEBIEC (2715.0) HiZZEEC (2000.0) {REIK K, BHHE
HEEIRECE (2715.0 vs 4315.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500

P3-7 0, Day=47 (2025-05-15)

100 A

50 A

200 3

150 -

100 -

50 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2124

1056 49

78 60

40 . L.
Warning: lcol [FVI',| "FVO’'] missing

maxM

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
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200 -

100 -

1
ByEt @47 18:58: ET=1266 Fg=1748.0 Ro=nan f @ *—o
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]
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- 2000

- 1000
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]
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—_—
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RH_obs
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FRV (ml d-1)
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cumET (ml/plant)
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24.
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24.
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24.
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0 A
5
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5
0 -
5
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m=660,m FV0=0
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g
6
4 -
9
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660 665 670
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g
6
4
9
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6
4
9
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87 —o— ME
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2 .
T T T
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i
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33.75
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i
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24.

24.
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24,
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35.

34.
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33.
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m=795,n FV0=0

—o— M_E
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50 A
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m=630, FV0=0

36. 25

36. 00

35. 75

35. 50 A

35. 25

35. 00 ~

34. 75 -

——

M_W

630

635
m=795,n FV0=0

T
640

39. 0 -

38.5 -

38.0

—— MW

795

860
m=945,n FV0=0

T
805

42. 00 ~

41.75 ~

41.50 A

41.25 ~

41.00 ~

40. 75 A

—— MW

945

950
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37.
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36.

39.
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41.

41.
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m=660, FV0=0
—— MW
0_
5_
0_
660 Gé5 6%0
m=835,n FV0=0
—o— MW
5_
0_
5_
0_
835 840 845
m=985,n FV0=0
—o— MW
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6_
4_
2_
0_
8_
985 990 995

m=690, FV0=0
38.5 - MW
38.0
37.5 4
37.0
T T T
690 695 700
m=880,m FV0=0
—o— MW
40.0
39.5 A
39.0 A
38.5
T T T
880 885 890
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38.
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41.

40.
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P3-7

Bfig) | JEBATE (7)) | ERE (AR | KR e

11:50 273 150.0 FA| 1Bi&@11:50 B3 (KRAHEREE)
12:35 273 150.0 FA| {Ri%@12:35 Bz (GRAEEE)
13:20 273 150.0 | =| 1Ri%e13:20 Bz (kAEREEE)
14:10 273 150.0 & =| 1Ri%e14:10 Bzh (GRBEREEE)
15:05 273 150.0 & =| 1Ri%@15:05 Bzh (RAHEESE)
Hit]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

REREBTEC (2700.0) HiZZEEC (2000.0) REK K, HHE

#[EKECE (2700.0 vs 4100.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=46 (2025-05-14)

150 m———e e ———
VI, VO''BRV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1700 - 2000 .
100 - -
119 1056 E
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50 150 w0 27 E
Warning: lcol [FVI',| "FVO’'] missing
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5 /ﬁw_/\/\\ F22.5
o F20.0
' 4
0.8
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Warning: lcol ['ECB’,| 'ECC’'] missing
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0.6 -
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Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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T T T T T
800 850 900 950 1000
m=890,m FV0=0
- ME
23.6 -
23. 4
23.2
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T T T
890 895 900
m=800,m FV0=0
—— MW
34.5
34.0 1
33.5 -
800 805 810
m=920,m FV0=0
39. 50 - R
39. 25
39. 00 -
38. 75 -
38. 50 -
38. 25 -

920 925 930

m=800, FV0=0
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21.75 A
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T
800

23.

23.

23.

23.

23.

23.

23.

—o— M_E

i

955 950
m=830,n FV0=0
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T
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T
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T
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T
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T
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P3-7

BrE) | GEBAK (3 | ERE (EH/R) (XS R

05:50 273 130.0 (Z=| {Ri%@05:50 Bz (FEAHERHSE)
06:45 273 130.0 |Z=| 1BRi&e06:45 Bzh (REERSE)
08:20 273 130.0 & 1RiRe08:20 B (KRRAERE)
09:50 273 130.0 F  1BRi&@09:50 Bz (RAERE)
10:55 273 130.0 5| {Ri%@10:55 B3 (GRAERSE)
11:45 273 130.0 5| Rike11:45 Bz (GREAERS)
12:30 273 130.0 E BRige12:30 Bz (GRAERESE)
13:15 273 130.0 5| {Ri%e13:15 Bz (GRAERSE)
14:00 273 130.0 =l RRiB014:00 B (RFAEEE)
14:50 273 130.0 E BRige14:50 Bz (GRAEREE)
15:50 273 130.0 |Z=| 1BRige15:50 Bzh (REERESE)
23+ 3003.0 (11%) 1430.0 3 3HKEC: 2080.0, PH: 6.0

LOREBIRTC (273) 57 (241. 0) A°FF, Wt TS BRIERSEXIER
PRINKPRIEBRE147.0 ml.

REREEBIEC (2635.0) 5iZEEC (2000.0) REK K, HHE
HEEKRECE (2635.0 vs 3820.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=45 (2025-05-13)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2112
100 - 1760 1700 {1764 [ 2000
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50 - 10 - 1000
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Warning: lcol [FVI',| "FVO’'] missing
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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0.0 1
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0.0
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T T T
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M_E

\
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22.75 A

22.50 A
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22.00 A
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25.
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M_E
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i
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